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There are six family members A, B, C, D, E and F and all of
them are of different age. D is older than only one person.
E is older than B and D but not as old as A. B is not the
youngest. C is oldest in the family. Who is oldest ?
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In a class of boys and girls, Rittika is 5% from the top and Aman is
11% from top. Rittika is 3@ from top and 5" from bottom among girls.
Aman is 6t from top and 23 from bottom among boys. How many
boys are sits between Rittika and Aman ?
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Ten member have given exam no two students have got similar marks.
B always score more than C. P always score more than Q. L always
score more than M. C always score more than L. Q always score more
than B. Each time either A score highest and D score lowest or
alternatively E score highest and F or M score lowest.
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Ten member have given exam no two students have got similar marks. B
always score more than C. P always score more than Q. L always score
more than M. C always score more than L. Q always score more than B.
Each time either A score highest and D score lowest or alternatively E
score highest and F or M score lowest.

9 gLl ° aEr <t g el <7 S S G| S gl (A gl BERATC |
STTer ThIT AT g1 P ZHAT Q & 31f8 ThiT FLaT gL ZHAT M & 37fers &R
FLAT g1 C AT L & STferF ThiX :Xar g1 Q ZHAT B & ({8 ThIX FLdT gl 8
T AT AT A ThIX IFAH 30X D 999 FH ThIT AT g IT Ahfeqs €9 4 E Igaw
THIT FHLAT g 3T F a7 M FT ThiX G99 F7 g

Question: If A's score is the highest, then

rank will not be le han?




Three persons A, B and C are standing in a queue. There
are five persons between A and B and eight persons
between B and C. If there are three persons ahead of C and
21 behind A, then what could be the minimum number of
persons in the queue ?
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Six letters K, P M, N, O and G are arranged in such a manner that K
is greater than G and smaller than P . N is smaller than only three
letters . M is greater than P and smaller than O . The number of
highest and smallest letters are 20 and 10 respectively.
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If the number of P is 7 less than O and 2 more than K then what is

the value of N?
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In a row of 29 students. Q is 8th from left and P
is 14th from right. Z is exactly mid of Q & P. what
is rank of Z from right? 29 S=T &I & Uf<F & Q
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In a class of boys and girls, Gita is 8th from the top
and Varun is 16th from top. Gita is 5th from top and
8th from bottom among girls. Varun is 9th from top and
28th from bottom among boys.
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